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| ‘Speed (8) or Velocity (V) Sealar (S or V_ect}m(\’ )

\/ 4(] mph toward Dallas;
v V. 3wisttothe feft,
M_ A0 meters. up the hilL

VA bike goss 25 s oward

Al Sireet.

S A& person walks 4 niph.

Sa plane flies 200 nvs. v 12 meter per sec’.
ALA bird Hlies 100 mph. due &L Direction matters.
south: é Ne direction i3 negded

Accelevatin 27 Yes; No, 6. Maybe ?

A}_ At conitant velocity,

Et Going 5'my then going 3 s,
A car going around a.corner.
{see-graphic ar right}, :

Y\ At constant speec} Ay erw k

Cheras”

1_Stopping:
A caratrest,

Lot Whiich tie will go-faster?

© Whiclrone will take more time to-reach 4 high speed?
A Trtheystart atrestwhich one will reach 40 m/s first?
ﬁz&. Which one goes firther (longerdistanca)?

A Which one will'be 100 away sooriér?

Olject A accelerates at: L0:m/s’; Qbject B aecelerdtes at 5m/s',

_]": 2'hes /! b Ssec m_gkg

S 3mis S _iph N

A bmphsec D 2 D tin

Gﬁjg'c-t"A 1w o T B & 8 @ sEm
Object B i wes & & & ® ® # 4 |

Qh'jecr(f' i o8 H & 3 s 8 s & s T BE RSN b-l

Object D

C!z_tzam’sffﬁé’ﬁé of the above applies 10:the féﬁion‘in ig
X0 Constant speed. @ Distance increases

&Positive.ac:{:e!‘er_ai:ipn.- Slaft at'rest.
_(_ Atconstdnt velocity. s stogping.

ABD_Accelerating. BB C  Constant directioi,
B Deécelgrating: Negative acéeleration.:
L Acesleration=0; L V=Y

“Give what vai ¥now for the following: (Vi Vs or a)
A abject 3t constaiitvelocig, R=0 VPV

G=- V0

An object that actelerates from rest. (< -+ Vi ©

Vi=Vp=0

Ariobject that is stopping;

Anobjectat rest, @ =0

<A person stams runfiing from 2 w's 1o/ 6 m/sin'? seconds.
Latéulate the person” s-dcceleration;

A dragster’s top atoglemtionis 60y sé.l-.-'__If}'it Siatfy from rést dt the
starting lirie, How fastssiil'ithe going after 3seconds?

Varighles:

Solve;

G ls- 2l oy

Formulaz

G

| Variabies: 7 Solve:
Q= (aOvnl
bov:= V- bm/( \/E,.Omls = (Ol Jse

Ertne F- Q0w

Formnila

AV
&

AV=04

& plarie Stops from 250 mipl in 25 seconds.
Calculare The planes acéeleration

A cartravels 30 min5 seconds, - Atteracoelerdting for 3:seconds,
i travels 20-miin 2 seconds. {Saicuiate-;ﬂié;:t-afi"s_.acceieraticn._

'VariaBEeS': ‘Solve:
C-" C\ - lSFO ""/ !l/‘
D= Omlb—UO“"/ i - 98¢

=985 — )
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12)Find V.= 2
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D End V.2
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